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Less interesting but important
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A hurdy construction : normal vector
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If you know the normal, you can also

find the formula ottk targetplace .
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Surface areas

÷÷
area: = |¥u×§I✓ / Sabr

f) 1212-3%1 DAGA a surface area
.

of

D Elm
.

e.g : Aran of a spree d- redoes R

Ñ (un) = LR cosh) cosh , Rsihlu) cosh ,
Rsihv>

27
⇒ = C-Rsucv ,Rcncv, 03

28
Jr
= C-Rcusv , -Rsusvv ,Rcr >

¥i¥=RK Call
,
Sad
,
Gsr>



/ Ei¥1=ñ[ a?ct + sicti-a.es:]
"

- R' [ att cisifk
= R' [ai]

"'

= Rh cosG)

f
"

f
"'

R'cost)dudn=R
"

f
"

small
"

da
-IT

- Iz
-Ti

-Iz
= ZITRZ ( 1- C-D)

= 4*R2 ( !)

-

Flu,v7= Lu
,
v, flux)>

If = 4, I , fin>

Ear e- Lo , 1, fr>

?¥tEn= Lta, - fr, 1) ←
she mend


